EARAROBEEIERT — 2 N— IBISH —F

20165F5A7H (+) 3m=#R5H

BLY v >73m *B7 U5l B

EZS

= ‘

[REBE] — | & (&) 1900M 4=

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

1Bl o | X ENLAE # 3 | FEs— 19,9 1-1-1-1 | 37.9| 88.1 | 1 g? ggﬁﬁfﬁﬁ%
:yn7x B:vx/F-7 gl =tie

4 3 | FlEX 2:00.0 2-2-2-2 |37.8|87.2 | 3 460 |BOEN (RR)

217110 ITN\YX b 56.0 (3/4) (-6) HERD
LN=VI54 B:STF7IXTh BHHEEKRASHIRE IS
IAL # o3 | EERA 2:01.2 2-2-3-3 |38.9]76.9 | 8 | 458 |EHIHEE (FR)

S 4 56.0 ) © |ZIAZL=2F-2 ()
RNy ALHNTT BFHITILETT EUFHT7— L
N . o3 | AEEN 2:01.6 11-10-7-5 | 38.6 | 73.2 | 4 444 | BREFESE (RR)

4|8[13| NI FZTRXE— 6.0 @ 1/2) (o) | EEE
LN—ErTvy— BixN-I 7127 P e ]

2 T # 3 | ERH 2:02.5 4-4-5-5 |39.8| 66.6 | 5 500 | =iEEE (3ER)
5/5/7|3IRX8—FTV> 56.0 (5) -2) BEER
LN=vU774 B:RAYILI(> #H B
LT 4 3 | HALBAF 2:02.5 7-7-6-7 | 39.6 | 66.4 | 9 472 | ILIKEIZ (EEX)
68|12 7>7 Y ¥TX %.0 () G4y | PEEY
L:x—~NFZXH>F— B EOAXT7 /IR N 4%
B 4 3 | EoEE 2:02.5 10-10-11-10| 38.7 | 65.4 | 11 444 | PRKRE (BH)

7111 | 2T Ly T— (B] 56.0 (NF) (-q) | PARERLE

LHIZAANyHR B IF79 9y IN—Ta b e ]
S0, — =8 4 3 | REXE 2:03.4 4-6-7-8 | 40.3| 59.9 | 12 | 468 |LEEZ (ER)
sf@ds | *~=7~ 5.0 ®) o |EHT
X THANAN B RAR—=92T 57— 2R Hhis
= : 3 | EREX 2:03.6 11-10-9-10 | 40.1 | 58.0 | 6 460 |BE (E®)

N ;: BRSPS 56.0 A o |FETRT
L:7=U74—X BT RIAVYET> it s
AN - 43 | IERHE 2:03.8 4-4-3-3 | 41.4| 58.3 | 2 53 |BE—% (EX)

1007 |11 Jgo /-7 56.0 (1 1/4) +8) ZIRiEE]
L:d—=IR7PYa—)b B:O-F1—-51> [E]=sEae
AN t 3 | et 2:04.3 8-8-9-9 [40.9| 53.7 | 7 490 | AAMREER (BR)

EH 9| ¥>¥ RNy KR * 7¢55.0 @) -6) BillER
R:TF7v 724K B:ehLVTITFIZ BIZ77—L4
J— R i 3 | BEE 2:04.6 8-8-11-12 | 40.7 [ 50.9 | 10 | 502 |E+EEH (RH)

1238 6 A51.0 (1 3/4) s |RREE
XL THANAN B =— (AYiokie]

. N H o3 | SEAEA - - - = - - | EEEH (Ex)

sl 4 | XTRINTZ T A53.0 () o) | @ #5ILy k5T 5747
LNy BhTr BRE—ATHIT747 FRBE%S

@ 71 L

) 50.4-37.9

NO>24 L | 7.0-11.5-12.0-13.5-13.0-12.5-12.5-12.5-12.4-13.0

® I —F—@EBIERL

13=7r= 2(5,10) (7,8,11)12(6,9)-1(13,3) 4

20—J— 2(5,10) (7,11)8,12(6,9)-(1,13,3) 4

30—+ — |[2,10(5,11)7,12(8,13) (9,3)-(6,1) 4

41—+ — 2,10(5,11)-(7,13)12-8,9(3,1)6 4

[ RN

B OB 2 270M 714K 2-10 290M e & 2-7 250M &R 2-5-10 3,150
8 B 2 120/ 2-5 660F B & 2-10 770M 3B 2-10-5 9,770
10 1904 5-10 1,640M B H 2-10 1,230
5 420M

ABICOVWTRDTEEERROODE. TR LIV,




